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9% 43
243 2.9
168 43
9 -
7 21.2
191 4.3
134 0.4
12 10.5
4 -
9 =
30 -
342 3.7
61 4.6
248 35
257 2.4
30 5.0
66 2.6
54 5.5
19 3.7
114 4.7
12 -

ols o
Aot M-S
o) o
SH2 =
424 YMs
% %
1.1 05
2.6 0.7
13 ;
17 1.9
0.4 ;
13 0.4
1.0 0.6
1.0 1.3
17 0.7
0.3 ;
25 ;
45.6 ;
- 26.6
13 ;
0.6 0.9
0.5 0.2
1.0 0.3
1.8 0.5
- 3.6
- 1.2
4.8 -
0.9 ;

o) o
otCHH, Ch=
E{| O] 40|, O
LIZd3 QrE=s
% %
16.8 31.7
10.0 40.2
14.5 40.4
12.8 27.3
17.2 28.3
25.5 24.9
17.4 33.6
16.2 29.9
7.4 34.6
14.7 33.6
13.7 29.5
21.6 29.9
16.9 31.8
21.8 124
10.9 19.1
60.6 29.3
34 30.2
- 44.0
= 8.6
6.9 23.1
1.4 33.2
6.4 44.6
7.5 23.5
33.0 32.0
18.0 12.6
16.5 58.6
4.8 13.9
- 22.6
10.4 48.4
- 27.2

ax L ol=
=3 +7r OFd Tt
o II5HSE E ol
= Zohol &=XAt2| IL|Cf
HEst MSALSH - OpH CHUSL S
bz M@ o|&s EE]

% % % %
12.0 1.3 0.7 0.8
10.4 2.0 1.2 2.1
6.4 0.5 0.8 -
16.2 1.8 - i
9.4 1.9 1.9 -
15.9 0.6 - 13
14.0 1.9 1.5 0.6
10.2 0.8 - 0.9
12.8 3.8 - -
9.6 1.5 1.4 1.3
17.6 2.0 - 05
15.6 0.5 0.5 -
6.9 1.3 0.6 1.4
14.1 - . §
22.1 - . i
1.6 0.7 - -
59.6 - - 1.1

- 36.5 4.9 -

- 18.8 - 46.3
8.0 - 6.4 14.9
10.4 - - i
1.9 0.9 1.3 0.2

i 1.8 - 1.4
6.0 2.4 0.9 2.4
19.7 0.5 - -
18.2 2.5 - -
9.2 1.4 2.7 -
8.3 1.2 - -
9.6 - 3.1 -
9.1 1.0 0.9 -
20.4 - - i

18.3
59.5
1.9

1.6
3.9
5.9
1.1
34
22.1
4.5

33
0.9
33
0.9

14.9

3.6
4.7

2.3
1.3
7.4
1.2
5.6
18.0

22.8
22.4
21.8
29.0
25.6
17.6
18.1
27.2

24.4

21.7
26.1
20.7
25.1
6.1

0.9
0.9
4.2
34.9
19.8

48.1
17.0

45.0
3.6
23.2
3.3
56.2
16.0
15.9

8.7

19.4

3.7
1.3
3.5
2.1
1.0

4.2
43.8
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%
18.6
23.3
17.0
17.1
16.8
18.6
20.0
17.4
27.2
17.1
27.8
14.4
19.6
7.5
22.3
18.6
25.9
16.3
38.5
28.8
11.9

XX = £ 8

%
11.2
13.7
13.2
15.5
9.1
6.7
12.0
10.5
16.8
14.8
59
9.8
9.7
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12.3
21.2
3.1
10.1
28.3
22.1
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%
4.1
7.5
1.8
1.6
1.9
6.4
3.6
4.6
54
6.1
2.6
4.4
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2.7
5.2
54
3.1
3.5

36.3



7) BHOF CH2at 202 S 7} LEMCHE 215 K| K|EHA

H0

HA|
18| 0] &t20CH
30CH
40cH
50CH
60M| 0] &

=
ofd
EAMAH
S53H
NS MEA
MeH

S

cigojalFg

re
ol

X x|

=
X~k =L LTo
oo

= A
o2
Abef| =

(807)
110
131
129
177
260
452
355

59
217
100
254
177
244
269

30

67

54

17
112

14

]
M
o

Al =

(800)
155
141
147
144
213
385
415
44
249
96
243
168
248
257
30
66
54
19
114
12

AL

AN H

7HST 2 2:

LME

%
27.1
32.0
26.6
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25.9
29.3
29.9
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29.8
25.6
25.8
26.9
29.5

53
55.0
15.4
24.6

1.9
25.3
25.9
47.2
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%
20.2
22.6
23.6
13.8
16.8
22.7
18.3
21.9
19.0
20.5
22.9
16.3
24.1

6.5
24.3
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13.7
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274
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17.1
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%
33.1
37.6
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25.2
31.3
36.8
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79
63.8
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%
19.4
28.9
19.4
18.7
15.8
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17.7
20.9
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17.7
20.0
19.9
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13.3
18.0
25.9
13.9
6.7
33.6
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2.2
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% % % % %
(807) (800) 304 25.5 28.5 8.1 5.8
110 155 15.0 22.2 38.3 11.6 10.7
131 141 28.9 22.7 36.0 4.5 5.8
129 147 447 16.3 23.6 11.7 3.2
177 144 38.9 26.9 25.7 4.5 34
260 213 27.0 349 21.6 8.0 5.6
452 385 29.3 259 304 9.5 3.7
355 415 314 25.1 26.7 6.8 7.7
59 44 20.1 17.2 32.3 17.3 11.9
217 249 32.1 23.0 32.8 6.4 5.1
100 96 35.3 19.5 25.7 12.8 2.4
254 243 29.7 28.8 24.7 95 6.1
177 168 28.6 299 28.2 3.6 6.7
244 248 68.7 2.6 12.4 8.3 7.2
269 257 2.5 56.5 30.3 7.6 1.3
30 30 42.2 21.7 18.2 6.6 114
67 66 2.5 284 63.7 3.2 2.1
54 54 774 1.0 6.7 11.1 2.2
17 19 14.1 30.0 24.4 27.5 -
112 114 54 16.1 52.6 8.3 14.6
14 12 14.7 19.6 27.2 - 20.8

%
1.7
2.1
2.0
0.6
0.6
2.9
1.3
2.2
1.2
0.6
4.3
1.2
3.0
0.8
1.8

1.6
3.9
3.1
17.7
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% % % % % %

(807)  (800) 31.3 215 28.6 8.9 78 20
110 155 15.5 25.8 36.5 9.2 119 11
131 141 306 17.2 35.9 100 49 13
129 147 463 154 194 12.0 56 1.2
177 144 39.2 216 28.7 40 6.5 .
260 213 27.6 25.2 24.3 9.0 89 50
452 385 30.1 219 315 8.1 66 18
355 415 323 21.2 26.0 9.6 88 2.2
59 44 25.0 25.7 25.8 13.3 90 1.2
217 249 326 21.0 287 9.9 57 21
100 96 36.6 19.7 29.6 8.7 32 23
254 243 309 21.6 26.5 10.4 9.2 14
177 168 28.4 22.1 31.8 41 109 27
244 248 72.0 3.9 9.1 6.7 67 17
269 257 2.4 434 36.1 10.0 74 08
30 30 29.6 31.7 17.1 8.4 14 19
67 66 41 17.0 68.0 6.8 41 .
54 54 83.1 1.9 1.0 10.2 22 16
17 19 8.2 31.1 19.6 31.2 59 39
112 114 5.6 16.6 50.2 9.2 153 3.1
14 12 8.7 35.3 17.9 : 60 321
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(807) (800) 334 254 27.1 7.5 54
110 155 22.6 21.9 36.8 7.8 919
131 141 27.5 24.3 337 6.2 7.0
129 147 46.8 13.0 24.7 10.8 3.2
177 144 39.9 27.6 23.1 6.4 2.5
260 213 31.8 35.6 20.3 6.6 4.5
452 385 30.6 27.0 28.0 8.7 43
355 415 36.1 24.0 26.4 6.4 6.4
59 44 20.9 23.3 31.3 14.2 9.1
217 249 33.9 21.7 31.8 6.1 5.8
100 96 36.4 20.5 24.2 14.3 3.8
254 243 36.9 29.2 21.9 7.1 4.3
177 168 29.1 28.8 28.5 4.6 6.2
244 248 75.1 2.1 10.3 59 58
269 257 2.3 57.7 31.0 7.5 1.5
30 30 36.1 25.2 16.3 84 14.0
67 66 52 274 63.7 - 3.6
54 54 80.2 2.8 6.2 10.9 -
17 19 28.1 15.7 22.2 21.7 4.8
112 114 10.5 15.0 474 12.2 12.0
14 12 6.0 19.6 27.2 - 29.1
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(807) (800) 33.7 21.7 27.0 8.6 6.9
110 155 26.9 20.1 35.9 6.9 9.8
131 141 27.6 18.8 33.1 12.0 4.7
129 147 453 14.3 219 9.7 6.7
177 144 38.2 24.4 25.2 7.6 3.6
260 213 31.6 27.8 21.3 7.8 8.8
452 385 32.2 214 28.9 8.6 6.4
355 415 35.0 21.9 25.3 8.7 74
59 44 16.4 335 26.3 11.2 99
217 249 36.0 18.9 28.2 8.1 6.5
100 96 33.8 19.3 31.3 11.2 3.5
254 243 35.8 23.9 22.6 84 7.1
177 168 31.3 20.8 29.6 7.6 8.5
244 248 74.9 4.3 7.3 6.6 52
269 257 2.2 453 353 10.1 6.6
30 30 44 .4 17.2 16.1 84 14.0
67 66 6.2 18.1 57.2 7.3 7.0
54 54 76.6 4.8 4.1 9.5 2.0
17 19 29.6 15.7 19.6 31.2 -
112 114 8.9 18.8 48.8 7.5 13.2
14 12 29.7 19.0 27.2 - 6.0
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0.4
3.7
2.1
1.0
2.9
2.4
1.7
2.7
2.2
0.8
2.2
2.2
1.8
0.5

4.3
3.0
3.9
2.8
18.2
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37.6
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27.0
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33.1
37.8

3.8

5.7
5.0
4.0
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1.9
3.5
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